
USB/PS3/IPDS unit  
(D546) 



 

 
 

USB/PS3/IPDS unit (D546) 
 

PARTS CATALOG 
 

This catalog gives the numbers and names of parts on this machine. 
 

 
  1. USB/PS3/IPDS unit (D546).................................   2 
Parts Index...............................................................   6 

October 28, 2010 



2 

 

1.Controller Option(D546) 

101

101

USB2.0/SD Slot Type F  (D546-23)

102

104

13

14

22

5

9

12

101

15

6
101

18
103

104

11

7

10

8

3

PostScript3 Unit Type C5501
(D546-09/10/11)

IPDS Unit Type C5501
(D546-05/06/07)

1

Camera Direct Print Card Type I
 (D546-21)

2

16

17

21

23

VM Card (D546-16)

4

19,20

**********

3



3 

 1 D546 5005  SD-Card:IPDS:EXP:Ass'y 1 
 2 D546 5021  SD-Card:P-Bridge:EXP:Ass'y 1 
 3 GA00 3144  Decal:PDF Direct 1 
 4 D546 5023  SD-Card:PDF:EXP:Ass'y 1 
 5 D422 1264  Lens:SD/USB 1 
 6 D422 1265  Shielding Plate:LED 1 
 7 D422 1267  Bracket:PCB:Ass'y 1 
 8 D422 1275  Case:SD/USB:EXP:Ass'y 1 
 9 D422 1277  Panel:USB:EXP 1 
 10 D422 1278  Cover:Guard:SD:EXP 1 
 11 D422 1280  Bracket:SD/USB:Main:EXP 1 
 12 D422 1281  Panel:SD:EXP 1 
 13 D422 1284  Bracket:Cover:Left 1 
 14 D422 5000  Cable:USB:700 1 
 15 D422 5020  Discharge Brush:12F:P025:Front 1 
 16 D422 5025  Shield Tape:CU10S:Front 1 
 17 D422 5030  Gasket:65TSV:Front 1 
 18 D422 5052  Spring Plate:Base 1 
 19 D422 5108  Decal:SD-Card:Operate:EXP 1 
 20 D422 5110  Decal:SD-Card:Operate:EXP2 1 
 21 D422 5112  Decal:SD/USB:EXP 1 
 22 D422 5701  PCB:Fusion:Ass'y 1 
 
 
 
 
 
 
 
 

 101 0353 0060N Bind Screw - M3x6  
 102 0451 3006N Tapping Screw - 3x6  
 103 0454 3006Q Tapping Screw - M3x6  
 104 0456 3008N Tapping Screw - M3x8  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Description Q’ty Per 
Assembly Part No. Index 

No. Description Q’ty Per
AssemblyPart No. Index 

No. 

1.Controller Option(D546) 



 

 

Parts Index 



2 

D546 5005  SD-Card:IPDS:EXP:Ass'y   3 -   1 
D546 5021  SD-Card:P-Bridge:EXP:Ass'y   3 -   2 
D546 5023  SD-Card:PDF:EXP:Ass'y   3 -   4 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

D422 1264  Lens:SD/USB   3 -   5 
D422 1265  Shielding Plate:LED   3 -   6 
D422 1267  Bracket:PCB:Ass'y   3 -   7 
D422 1275  Case:SD/USB:EXP:Ass'y   3 -   8 
D422 1277  Panel:USB:EXP   3 -   9 
D422 1278  Cover:Guard:SD:EXP   3 -  10 
D422 1280  Bracket:SD/USB:Main:EXP   3 -  11 
D422 1281  Panel:SD:EXP   3 -  12 
D422 1284  Bracket:Cover:Left   3 -  13 
D422 5000  Cable:USB:700   3 -  14 
D422 5020  Discharge Brush:12F:P025:Front   3 -  15 
D422 5025  Shield Tape:CU10S:Front   3 -  16 
D422 5030  Gasket:65TSV:Front   3 -  17 
D422 5052  Spring Plate:Base   3 -  18 
D422 5108  Decal:SD-Card:Operate:EXP   3 -  19 
D422 5110  Decal:SD-Card:Operate:EXP2   3 -  20 
D422 5112  Decal:SD/USB:EXP   3 -  21 
D422 5701  PCB:Fusion:Ass'y   3 -  22 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Parts Index 
Description Page and 

Index No. Part No. Description Page and 
Index No.Part No. 



3 

GA00 3144  Decal:PDF Direct   3 -    3 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

0353 0060N Bind Screw - M3x6   3 - 101 
0451 3006N Tapping Screw - 3x6   3 - 102 
0454 3006Q Tapping Screw - M3x6   3 - 103 
0456 3008N Tapping Screw - M3x8   3 - 104 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

Description Page and 
Index No. Part No. Description Page and 

Index No.Part No. 


	1.Controller Option(D546)
	Parts Index

